i O
i ~
14 ..__...”.._..... .._. ] ._..... A
rr 4170 H.._ /) 14 D
i o ERE ... f ..............
.“._. .|. | .... .1.._ . 1_..1| F # .?l a
[ TEEEER SN A (- L J
T i R .._1.._1._.._.."._..q ......
| §# _.“-.m._. ..”.“-_.-h i ...-..... f ._ g F .“. —_‘.._-—.. ..._L. —"_... - F . 1
e (1N vq._.._.._..___.m._.-._ I _“__...“.“__._....l.___. L} fK ! o . YR, ey e 5
i _. Ll _.... p |, ryye ¥ . __1 - = 4 i ) & [, ..... Ty N
nr...._.._ ! _L-_. h u.” “.."_.. .l_m..%n_.-_ ...11.*& 4 ."_ ) .lu i i ..|..l r ’
I [ r _‘ﬁ i _...._.-..___v_“ § 0l .._..q‘.. " i __..n....".__...q..__....... i H“ ﬁ\ U
PRI nr._._ __m L_.Lﬁ._.. ._.__“__,..“.1._..“__._..:__*1_&._._ ¥y Pyl TP "
i A TR R | ¥ Tl I ] I Y r i (. N ITRIT,
L .. L n_... -.._.__._.v_.H“_.mm_ - e | n‘t _“ .-‘_. ! —..H“_. ._.-.. ) .__... i b 4 ..-r_ﬁ.ﬁn -1..._3:__.&-._- . =gt
_”m.__._._.. .._m..f_h.“"“i___ :" ._______.u__._x-m__:. _..,.“.m._..ﬂ | I __:_.;_.__;._..:- d iy, ol R
¥l ... ¥ il i y i i i F J 1_..._._. i ]
.._h_..“. (8 +_“.”_.__J..”_.1.+".__-._.1._.n__._.-" *r .m__h* -ﬂ..-. __n.ﬂd_ __- .-_.._m. ._.. 1 .n-_.#_. | Féiy Fi -....ﬁn.._wu__.ﬁﬂ.__._.l._.... all "
.._....:._.“4, ._.q..._u_.r.__. f_.. | ¥ n..___._u____.n_ _..._?:__.I____: .___.11...:.._,.__”». i LI YT, . bk
.....__.__h...“”.m._ ! .-..m_____.“‘w._.-“._.. ! &._”_ 4T _-_ 1_.".__“ ..A.u. n_. h._.._uu.r-m.._“ ._..#.1 .1._.._...—“._.41.-.._.1... M T T "
o LA B AT L A ISR TTReA? TTTTIN ph !
....n.__ i r_. __._._.._. .‘..% [ 4 | .= & i w. i ..__. ﬂ bt r-;...u-. LT il sk i -.__._-_-_.-.-‘h._...
SR AR R N ARG roriibiidpsusis s gy s
i f " L el f ..-..H. ¥ L]
§ L L .w_w_; __.r..._ { IR PRAAARAAL & vy .._.___.-__.w.ﬂ._._.l..__...:‘..m TLL
! .H. 1ﬂmwa,._.”,.1~. (ffe ?ﬂ,.}._.:_..._;_._:__r._.._.:.._... W)
1 § - (1Y '.-..1 .—..
u.r..p.. ol stk AT ._._f..::“.,..._r.. _._‘._:.__._.....u.._,t__,_.h Pl 1 "
_“__:M. T THT NG AL 3,
_af___ napoapin PO NTY g ¥ ¢
VAT IO Tt bt 4 e e YR ol 1
ﬁ”,‘,...__.__....:..:q.‘. Aadd bl L ..g_;:_. L
i L f'.....#.f.rf_._... ...._u..r.iﬁﬂ. -.nu.ﬂ- b:-bi

\Vyrr AR

N L MR
N VAR TYIOL VP TL Re.
AL AR u___,. " L
wr.g. ......___‘..-__4__-__4 d.r..J.u;-_...v-.-.-.... ; J..F.:......_ .

2

>
=

t, get what you

icien

09fF18VEE BB Fh T Ml 2642

99PC.18V LI-ION DRILL PROFESSIONAL MECHANICS TOOL

A E - FRRIMEfF X

51107 |




F18VIEREE T W B wimHE

51 1 07 99PC.18V LI-ION DRILL PROFESSIONAL MECHANICS TOOL SET @ SATA'I'EI_®

A e -k FNRME®[®S X

— o D
- ;
= = - %l 18V ERIBEEFH
-_e
=4

- BREFEIIA
- RESE

il P _ professional 18V Li-lon Brushless
Drill/Screwdriver
- High-quality hand tools
- Configuration, comprehensive and
professional

A FEERFmRBBAUSRESZ T mRBE RN E

L E W EELIELAE/ Li-lon Drill Professional Mechanics Tool

Rz O s Product List

1f4+18VEREB Rl FB 34/ EEF A (—EB—7%) 1Pc. 18V Li-lon Brushless Drill/Screwdriver
B IGEE Fh3K6, 8MM 2Pc. Tile Wall Drill 6, 8mm

bR ER3K3, 4, b, 6, BMM hPc. Twist Drill 3, 4, 5, 6, 8mm

D8R 244t S 42 X 65, #2X100MM 2Pc. Screwdriver Bits #2 X 65, #2 X 100mm
2B REIZE 42130 X 65MM 1Pc. Fastener Box 130 X 65mm

LAtFIR 2 B (IR 45, FLERIRL) 48Pc. Screw Parts (Expansion Screw Tube, Flat Head Self-tapping Screws)
B IR 1Pc. PVC Electrical Insulation Tape

1FERT 1Pc. Polytetrafluoroethylene (PTFE) Tape

1R {R$E 56" 1Pc. Mini Hacksaw 6"

IR EB 4T 4R = A 38 0.50% 1Pc. Fiberglass Handle Claw Hammer 0.5 LBS.
"¢;£=EEAT;.:E}J¢J§1—8 1Pc. Dipping Handle Adjustable Wrench 8"

143X 225H 8" 1Pc. Combination Pliers 6"

157K 3R 610" 1Pc. Groove Joint Pliers 10"

'1¢%R3M>< gMM 1Pc. Tape Measure 3m X 19mm

54 E @ N B 2E145MM 1Pc. Circuit Tester 145mm

14 '%757' KR+ AR T) #2 X 38MM 1Pc. T Series Screwdriver, Phillips #2 X 38mm

M TRF|—F 1822716 X 100MM 1Pc. T Series Screwdriver, Slotted 6X 100mm
1HTRY+F 1822 T]#2 X 100MM 1Pc. T Series Screwdriver, Phillips #2 % 100mm

M TRF—F 1822 T]3 X THMM 1Pc. T Series Screwdriver, Slotted 3 X 75mm
1FTRYT+F 8822 J]#0 X /5MM 1Pc. T Series Screwdriver, Phillips #£0X 75mr
OB MR 22 L 2A E(#00, #0, #1,1.6, 2.0, 24MM] 6Pc. Precision Screwdriver Set (#00, #0, #1,1.6, 2.0, 2.4mm]
428t/ T 7118 X 100MM 1Pc. Utility Knife, 18 X100mm

104317171 /18 X 100MM 10Pc. Utility Knife Blades, 18 X 100mm

QM- EESNININ KA /N AIRFAH(D, 2, 25, 3, 4,5, 6, 8, I0MM) Pc. Long Arm Hex Key Set (15, 2,25, 3, 4, 5, 6, 8, 10mm])

APE X

wa.satatools.com:§ ,\
400-820-3885 800-820-3885 ‘ TOOL GROUP



